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	Terms
	Definitions

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]nucleus, nucleolus, rough ER , smooth ER, centriole
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Which 5 organelles are tied to genetic function.

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]centrioles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]cytoplasmic bodies, located in the centrosome, associated with organization of spindle fibers

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]centromere
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]specialized condensed or constricted region on a chromosome. Establish chromosome's general appearance and organize spindle fibers

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]metacentric
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]middle centromere location

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]submetacentric
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]centromere location: between middle and end

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]acrocentric
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]centromere location: close to end

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]telocentric
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]centromere location: end

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]diploid
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]all somatic cells contain an identical number of chromosomes (2n)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]homologous chromosomes
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]all chromosomes exist in pairs and the members of each pair are termed ______

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]sister chromatid
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]each chromosome is a double structure consisting of two parallel ____________ connected by a common centromere

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]genome
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]genetic information contained in a haploid set (n) of chromosomes

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]23
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]haploid number for humans

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]karyotype
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]mitotic chromosomes photographed, cut-out, and matched up

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1) G1, G0, G1, S, G2, mitosis
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]order of cell cycle stages

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]prophase, prometaphase, metaphase, anaphase, telophase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]stages of mitosis

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]mitosis
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]cell division

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]interphase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]interval between divisions. Replication of DNA of each chromosome

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]S phase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]step of interphase: replication of DNA

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]G1 phase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]step of interphase: quiescent; cells remain viable and metabolically active but non-proliferative

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]G2 phase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]step of interphase: intensive metabolic activity, cell growth and cell differentiation

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Prophase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]longest stage of mitosis

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]mitosis
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]parent and daughter cells are genetically identical

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]wound healing, cell replacement, development and growth
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]3 reasons why mitosis is important

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]prophase
	1) nuclear envelope breaks up and disappears
2) Chromatics fibers condense into discrete, observable chromosomes, composed of two identical sister chromatids joined at the centromere.
3) Mitotic spindle forms. It is composed of microtubules between the two centrosomes or microtubule-organizing centers.
4) Centrosomes move apart, apparently propelled along the nuclear surface by lengthening of the microtubule bundles between them

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]kinetochore
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]specialized structure located at the centromere region

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]kinetochore microtubules
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]What connects to the kinetochore?

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]prometaphase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1) centrioles take up polar positions
2) spindle fibers extend into the nuclear region
3) chromosomes attach to the spindle fibers and begin migrating to the equatorial plane.

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]metaphase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1)sister chromatids have already aligned on the equatorial plane. 
2) Sister chromatids attached to spindle fibers through their centromeres

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Anaphase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1) shortest mitotic stage
2) centromeric region split in two
3) Sister chromatids disjoin (separate) and migrate to opposite ends of the cell
4) chromosome migration due to action of motor proteins and ATP hydrolysis

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tubulin
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]dimers polymerize to form microtubules; fast-growing (+) and slow growing (-) ends

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]microtubules
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]extend from centrosome to "seek" out chromosomes to form stable interactions

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]depolymerization
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]shortening of kinetochore microtubules

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]motor proteins
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]What mediates motor proteins

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]telophase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1) two sets of chromosomes at opposite poles are partitioned into two new cells
2) nuclear membrane forms around the chromosomes at each pole.
3) Cytokinesis (cell furrow)
4) Two genetically identical daughter cells

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Meiosis
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]______ reduces the amount of genetic material in half.

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]haploid
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Meiosis produces ______ gametes or spores

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]variation
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]meiosis leads to genetic ______ due to crossing over.

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Prophase I
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]what stage does synapsis occur?

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Metaphase
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]What stage has two tetrads?

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]reductional
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]What type of division is the product of meiosis I?

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]equational
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]What type of division is the product of meiosis 2?

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]homologous chromosomes
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]identical in length, placement of centromeres, and # of genes

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tetrad
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]during meiosis chromatid double forming a _______

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]dyads
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tetrads separate into 2 ____

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]reduction division
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]When 2 sister chromatids joined at a common centromere it's called _________

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Meiosis II
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]splits each dyad in monads

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Prophase I
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1) chromatin present in interphase condenses and coils into chromosomes (diploid cell duplicates its genetic material)
2) members of each homologous pair undergo synapsis
3) crossing over occurs between synapsed homologs
4) divided into 5 stages

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]leptonema
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]stage of meiotic prophase 1 in which chromatin condenses, chromosomes become visible, "homology search"

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Zygonema
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]stage of meiotic prophase 1 in which chromosomes continue to shorten and thicken. Homologous chromosomes undergo initial alignment, bivalents formed

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]pachynema
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]stage of meiotic prophase 1 in which chromosomes continue to coil, homologs appear as double structures, synapsis occurs, bivalent contains 4 chromatids and tetrad formed
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